d&agoul géolyi Py d

saudi aramco

APNE

Practice Sample For The Screening Tests

(Sinsal) 3383 CLERY Aoy de




dadiiall Sinie caaliall ghie

M) el Lol ) claglaall sda @l a3 o Lagand) oKalf A0 8 yuskailly il o) e
APNE 45l dayall cilas iy s dd 250l malind Jeidll cihylaal oY

e el 13g) Jsadl) s Calls

Aoplaty) Al 8 (ggiaal) man jladl -]

Claabyll 8 ol paas Hlaal =2

Glaally bl pSally 4alas¥) dalll e Hladl =3

4283 190 e saaly Al 8 Cleatially Gresfiall lgases Jaxis

tsle aaia zalinall b Al Joill o) s el 8 sl Glava chlaaY) Slaa) e Vs
Gagend) oSl U8 e casthaall aaell — 1
Jeall calillaia Jgaas g )l 1g5tal cpdll cilaatially eddiall 2ae =2

1Y) Jalsall ol Jadl e 2l Cogllaal) anad) Lad) iy Cagus

L0l Balgdll 4 U dgall Jaee 1

Cilassds oanal aliley Lo sl (Uehd) Augill) Al yal) g DU dalad) @) sl Aoy =2
Ll Gsladl

APNE gl dla yall cilas g candl 250l iyl Joadll cullaa) b dadiial) of adiiall (ggise =3

tb Lo Jlan) qunag el asad) cglly asall 8 LAY GlSe ) jgemall Cang
el Slea ol dvaall Jlsad dalay —1
clills Job 220 A58l alge 3u)ka (e lgale ciliaa Jlly Hlaa¥) Jeaal seeall -2

Adln) clasles (sl i) o6 uasleally A b Gl LAY Ge clgpeddl pdier (5 ()
gl e ol g ol i

Saudi Aramco: Public
© 2025 &2 gndl 5l )]
A0 g i pal) 30 AS 5 e g e s (S (3 e Jgemnll (50 ulS 45yl (5L salall o3 (ge s (s et s Vs dda sine (358l men
() Sl )
2



Glaldy)g alaales

Ay AR B (Sgiauall pans lgd)

Sl 358 A gy Jsamall ilgisall Tada djulaiy) all) b s daa3 ) Las) 13a Cag,
dayn olaaal 2 cchlia) Zanl Jlse IS V15m (60) o Aidad¥) Aalll 3 (ggiveall aans Ll Cally
aaaal LY jled) vie g J)gd)

LY 13g) Mana) e aels ) A dgail) ALY (e de aag AW ladall b

calall 138 4lg b Bagasal) dasaiall LAYL ehibls) d5lhe 5 ALY 538 oo LlaY) il

Saudi Aramco: Public
© 2025 &2 gndl 5l )]
A0 g i pal) 30 AS 5 e g e s (S (3 e Jgemnll (50 ulS A5y 5l (5L Balall 03 (ge s (s Gt s Vs dda sine (358l e
() Sl )
3



These questions are for practice purposes only bis il (el e ALY ol

APNE

daad gald ALY doy jai die

waen

A 5daiy) ARl B (g ghual) agaad LAY

CONTENTS
1-7 GRAMMAR
8-14 VOCABULARY
15-24 READING COMPREHENSION

[Please Note: These questions are for practice purposes only]
(J88 ol (it ALl oda o) Aaadla A x)

Saudi Aramco: Public
© 2025 A3 gad) Sal )
0 gl A yall 3 AS 5 (e g e s (S 0 (o Jgemnll (50 i€ 38 pla (gl saldl o3n (g s (g G sma Vs ddasine (38al) aen
(R sd) Sl i)
4



These questions are for practice purposes only b ol el e Ay oda

GRAMMAR

DIRECTIONS: Read each sentence.
Choose the correct answer.

1. Bilal hasn’t read the book to understand the story.

any
as much as
enough of
many of

cn®m>

2. Mohammed doesn’t have free time.

A. much
B. lots
C. all
D. as many as

3. Ibrahim was born Riyadh.

A. on
B. by
C. in
D. at

>

Jamal likes camping with friends.

A. gone

B. togo
C. go

D. be going

(8]

My brother and | the soccer match on TV last night.

A. have been watching
B. watch

C. are watching

D. watched
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6. Dana lived in Canada for many years, so she cold weather.

used to
is used to
use to

is use to

oNw >

7. Hussain doesn’t know car to buy.

which
whom
who

where

oCom >
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VOCABULARY
DIRECTIONS: Read each sentence.
Choose the correct answer.
8. The of the new air conditioner will be finished tomorrow.
A. environment
B. performance
C. installation
D. adventure

9. At the beginning of every English speaking class, the students have a short
with their classmates.

A. garden

B. city

C. department
D. conversation

10. People from many different countries went to the conference.

A. deep

B. international
C. porous

D. simple

11. Be careful when you handle a knife because it can cut you easily.

A. cloudy
B. difficult
C. worried
D. sharp

12. Mount Everest in Nepal, the world’s highest mountain, is a very sight.

A. impressive
B. boring

C. delicious
D. tragic
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13. Some dairy products contain a significant of fat.

A. beach

B. trend

C. petroleum
D. amount

14. | can’t finish my homework on time, so I’ll ask my teacher to give me a deadline
of three more days.

surgery
extension
bank
defeat

oo w >
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READING COMPREHENSION

DIRECTIONS: Read the passages.

Read each question.
Choose the correct answer.

READING PASSAGE ONE

1.

Are you familiar with the cartoon character Tintin? If so, you may be familiar with
the comic book Tintin in Tibet, which first appeared in 1960. Perhaps you have read
the Arabic version. In the story, Tintin hears the terrible news that the airplane
carrying his Chinese friend, Chang, has crashed in the snowy Himalayan mountains
of Tibet with no survivors. Tintin then has a dream, in which he sees that Chang is
still alive, and so he travels high into the Himalayas to find and rescue his friend.
The world’s highest and most formidable mountain range was a fitting setting for
this heart-warming tale of tragedy, friendship, and courage. East Asia is, by far, the
world’s busiest and most populous region, with billions of people constantly on the
move by land, sea, and air. And yet, if you open up a live air-traffic map of East
Asia, you will see that aviation activity is totally absent from one vast region within
the region: Tibet is essentially a no-fly zone.

The autonomous region of Tibet lies in southwest China. Covering an area of 2.5
million square kilometers, Tibet is 20% larger than Saudi Arabia. In addition to its
great size, the Tibetan plateau is the highest region on Earth, with an average
elevation of around 4,000 meters. Mount Everest, the world’s highest mountain, is
located in the south of the region, on Tibet’s border with the neighboring country of
Nepal. The presence of the Himalayan range within its territory has earned Tibet
the nickname “The Roof of the World,” and many of Asia’s most famous rivers, such
as the Yangtze, the Indus, and the Mekong have their source here. Despite its vast
size, however, Tibet’s population is only around 3 million, and there is virtually no
internal demand for air travel. This lack of demand for either international or
domestic air travel means that Lhasa, Tibet’s capital, hosts the region’s sole
international airport.

. An early indication of the extreme dangers of flying in such an inhospitable

environment was provided in the 1940s, during World War Il. The British needed to
airlift supplies from their bases in northeastern India into China to assist the
Chinese in their struggle against the Japanese forces that were occupying Chinese
territory at the time. The extreme weather conditions that the pilots encountered
on these missions included wind speeds of up to 320 kilometers per hour. Over a
three-and-a-half-year period, a total of 594 aircraft were lost and 1,659 fatalities
were recorded. To put these numbers into perspective, these non-combat losses
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were even greater than the combat losses suffered by the allied air crews at the
hands of the German Luftwaffe during the Battle of Britain. Indeed, in some
months, as many as 50% of the aircraft flying these routes were crashing into the
mountains of the Tibetan plateau.

4. Even today, 75 years after World War Il, the elevated terrain of the Tibetan plateau
presents very real dangers for all types of aircraft. These dangers take many forms.
For example, commercial airliners usually cruise at an altitude of around 11,000
meters, which is well above even Mount Everest. But, in emergency situations, such
as a cabin depressurization or an engine failure, standard procedure is for the
aircraft to descend to a much lower altitude of around 3,000 meters to enable the
passengers and crew to breathe normally, as the emergency oxygen supply will only
last for 20 minutes. However, because the average elevation of the Tibetan plateau
is around 4,000 meters, the aircraft would almost certainly crash into a
mountainside if such a descent were attempted. Faced with the need to divert the
aircraft to a suitable airport for an emergency landing, pilots flying over the Tibetan
plateau have very few options.

5. Turbulence — the sudden, jerky, up-and-down movement of an aircraft caused by
irregular airflow — poses a potential hazard in the skies above the Tibetan plateau.
Fortunately, modern passenger planes are engineered to withstand almost anything
the sky can throw at them, so, although turbulence is a common in-flight
occurrence, it is rarely dangerous. That said, so-called “mountain wave turbulence”
can be a very different matter. The towering Himalayan peaks force the high-speed
winds sharply upwards, and this creates severe waves of turbulence as the air passes
over the mountain peaks. Scientists in India have reportedly succeeded in modeling
turbulence parameters over the central Himalayas for the first time, and it is hoped
that this breakthrough could make air travel in the region less of a risk.
Nevertheless, the unforgiving Tibetan plateau will likely remain a “next-to-no-fly
zone” for many years to come.

15. According to paragraph 4, what is the usual cruising altitude of commercial
airliners?

A. 11,000 meters
B. 4,000 meters
C. 3,000 meters
D. 7,000 meters
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16. In paragraph 3, assist means:

A. stop
B. cure
C. help
D. beat

17. According to paragraph 1,

A. Arabia is by far the world’s busiest and most populous region
B. the whole of the East Asia region is essentially a no-fly zone
C. the cartoon character Tintin is especially popular in East Asia
D. there is an Arabic version of the comic book Tintin in Tibet

18. From reading paragraph 5, you can guess that

A. ordinary rain does not present a problem for modern passenger planes

B. the skies above the Tibetan plateau will soon be the busiest in the world
C. modeling air movement won’t increase the accuracy of weather forecasts
D. the Himalayas are the only mountain range that causes severe turbulence

19. In paragraph 2, the Yangtze, the Indus, and the Mekong are examples of Asian
rivers that

A. have an average elevation of 4,000 meters

B. are located in the neighboring country of Nepal
C. explain why there is no demand for air travel

D. have their source in the Tibetan Himalayas
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READING PASSAGE TWO

1.

3.

On September 8, 1978, UNESCO, the United Nations Educational, Scientific, and
Cultural Organization, added the Yellowstone National Park to its list of World
Heritage Sites. This addition was a recognition of the natural beauty of Yellowstone
and its unique place in the history of environmental conservation. Yellowstone
National Park is located in the northwest of the continental United States. Although
its boundaries extend across three states: Wyoming, Montana, and Idaho, 96% of the
park’s 3,470 square miles lies within the state of Wyoming. Because the park is
situated high up on the Yellowstone plateau, which forms part of the Rocky
Mountain range, its average elevation is 2,400 meters above sea level. Yellowstone
Lake, at 136 square miles, is the most significant body of water within the park and
the largest high-altitude lake in North America.

Archaeological discoveries show that human habitation of the Yellowstone region
dates back at least 11,000 years, to a time when Native Americans were fashioning
weapons and tools from a flint-like stone called obsidian to hunt and fish in the
area. However, Yellowstone’s remoteness and inaccessibility meant that organized
exploration of the area by Americans of European origin was not seriously attempted
until the late 1860s, after the American Civil War. Reports from these early
explorers describing the many natural wonders that they had encountered on their
travels soon led to the recognition that Yellowstone was a very special place and
should be valued and protected. And so, on March 1, 1872, United States President
Ulysses S. Grant signed a law officially establishing Yellowstone as the world’s very
first National Park.

Among the most famous of Yellowstone’s geological features are hundreds of
geysers — jets of boiling water and steam that shoot up from the ground at regular
intervals. Fully two-thirds of the world’s geysers are found in Yellowstone. The most
famous geyser in Yellowstone is named “Old Faithful” because it erupts every 90
minutes, without fail. Yellowstone experiences thousands of minor earthquakes
each year, and, occasionally, major ones, such as the magnitude 7.5 earthquake
that struck the region in 1959. And the reason for the unusually high level of
geothermal activity? Yellowstone’s natural beauty hides a terrifying secret: the park
sits directly on top of one of the largest supervolcanoes on Earth. The good news is
that, on average, the Yellowstone supervolcano only erupts once every 600,000
years; the bad news is that the last recorded eruption occurred approximately
600,000 years ago!

Yellowstone is thought to be the largest remaining intact ecosystem in the northern
temperate zone. The park is home to nearly 2,000 species of trees, and many
dozens of species of flowering plants, most of which flower during the summer
months of May through September. Yellowstone is also blessed with a great variety
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of animal life, including bison, grizzly and black bears, moose, wolves, lynx, and
cougars. Despite the rich variety of wildlife, however, many of Yellowstone’s unique
plant and animal species are endangered, either as a result of diseases, migration,
or hunting by predators, including humans. Until fairly recently, forest fires were
seen as a threat to be countered wherever possible. However, professional attitudes
have shifted, and it is now recognized that wildfires are an integral part of the
natural world, clearing the ground and promoting new, fresh growth.

5. Yellowstone is ranked among the most popular national parks in the United States,
with over two million tourists visiting the park each year. During the peak summer
season, the park employs over 4,500 people as part of a tourist infrastructure
consisting of hotels and lodges offering a total of 2,500 rooms, a 500-kilometer road
network, numerous visitor centers and museums, educational tours, camping
grounds and hiking trails, and boating facilities on Yellowstone Lake. Visitor safety is
a major concern for the Yellowstone National Park authorities; several tourists have
died from injuries sustained as a result of attacks by bears, and an extensive
network of paved trails has been constructed to protect walkers from the dangers
posed by the park’s geothermal features.

20. According to paragraph 5, how many tourists visit Yellowstone each year?

A. 2,500

B. 500

C. over two million
D. 4,500

21. In paragraph 2, fashioning means:

A. cooking
B. making
C. burying
D. liking

22. According to paragraph 3, .

A. the Old Faithful geyser was first discovered in 1959
B. the Yellowstone supervolcano last erupted in 1959
C. Yellowstone experienced a major earthquake in 1959
D. Yellowstone’s beauty has been top secret since 1959
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23. From reading paragraph 1, you can guess that

A. Wyoming is the largest of the three states that host Yellowstone National Park
B. Yellowstone National Park was not the first UNESCO World Heritage Site

C. the Rocky Mountain range is one of the youngest mountain ranges on Earth

D. the U.N. Educational, Scientific, and Cultural Organization was set up in 1978

24. In paragraph 4, wolves, bears, and cougars are examples of

A. the types of animal that live in Yellowstone

B. the many different species of flowering plants
C. the threats to be countered wherever possible
D. the wildfires that promote new, fresh growth
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IMPORTANT NOTICE: The following questions are just examples of topics
covered in the Mathematics screening test, and these examples do not
necessarily cover all of the topics that may appear in the actual Mathematics
screening test. The Mathematics screening test topics are based on the
Mathematics content in the curricula of the Saudi Ministry of Education for
intermediate and high school levels.
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| 1) 0.84 +2.2 +56.007 =? \ 0.84 + 2.2 + 56.007 =2 (1 |
A 59.111 A
B 58.047 B
C 59.047 C
D 58.807 D
2) Find the average of the following five (82 <96 ALl dwedl) sl V) (Jana) Jans sia e (2
numbers: 96, 82, 90, 82, 85. 85 <82 <90
A 85 A
B 82 B
C 435 C
D 87 D
3) 71 £ 52 9 71 .52_93
2 9 2 9
A 100 ;
135
7
B 1— B
20
20
C — C
27
D 412 D
3

OV 058 Lavie Slaa 4384 Adlsa s s olaii (4
8l Lgadas 1 (Uaally) Adlisall Lo Lalas Uiias 3 58 500
16 &1 AN das S 13 2 585l (g 2al 5 Gl laiay

4) A car travels 438.4 miles on a full tank of fuel.
How far (in miles) does the car travel with one
gallon of fuel if the tank capacity is 16 gallons?

tlslla
A 701.44 A
B 274 B
C 74.2 C
D 7014.4 D
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5) Convert 55°C from Celsius to Fahrenheit
using the formula F = g(c +32).

55 Jalad (A (F) e edla sy all A 0l (5
°F = %(C +32) Al 4155l (C) dusha n 2

A 131°F A
B 387°F B
C 105.4°F C
D 156.6°F D

6) Solve the equation log, (5x—1) =2 for the set

de sane pana l0g, (5X—1) =2 el s L (6

of real numbers. Saaasll dlacy)

A x=1 A

B X=2 B

C X=5 C

D x=10 D
7) Find ain the triangle below. 9oLial peaia sall Culiall 3 g A e (7
(Note: Figure is not drawn to scale) (e ) ilia ae (el o g pall (KA - 2daa3l)

a=9 b=20
c=12

A 12 A

B 8 B

C 16 C

D 14 D

8) What is the volume of a cylinder whose radius
is 5 cm and height is 4 cm to the nearest integer?

(consider that = = 3.14)

(6 sy Lo d i 1 A3l ) aaa Lo (8
Sgaaa e BV 4 om leeli))s 5 cm
(n=3.14 o Juiely

A 314 cm?® A
B 63 cm?® B
C 126 cm® C
D 1,256 cm?® D
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2

_ 2
9) Evaluate (b+ 2a)2 L& b where 13 ¢ (b + 2a)2 + & —6b il (9
a=2,b=3c=12,d=6 fa=2b=3c=12d=6
A 46 A
B 15 B
C 70 C
D 29l D
6
10) Solve the equation 2X=3_5 ¢2X=3 0 jdida b (10
4 6 4 6
1
A 3= A
6
1
B — B
6
C 18 C
D 3l D
2
11) Find the slope of a line that passes through (-5, 2) bl e oA atuall Il Ja e (11
the points (-5, 2)and (1, —4). °@1 -4) 3
A _—1 A
3
B 1 B
1
C - C
2
D -1 D
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| 12) Solve the inequality 4x—9 <5x+9.

$4x—9<5x+9 Aulidl da Lo (12 ]

A x>0 A
B x>-18 B
C x <18 C
D Xx<-18 D
13) What is the value of y in the system of ) c
X-y= e
; 2X—y=5 ¢ ilalaall alas iadle (13
equations {4 Y=, {4X_y:7u“’ el Ay Aeid La (
A y=3 A
B y=-17 B
C =-3 C
D y=1 D

14) Two numbers have the sum of 35. One of
them is 3 more than the other. What is the small

3 ey SV aaal) 355 ¢35 Lage sana Olase (14
¢ ) 22l le | jpat) aaal e

number?
A 13 A
B g3 B
4
C 19 C
D 16 D
. . 2 2 3 3 2 2 3 3
15) Simplify (—3x y) (2xy ) . ‘-’(—3x y) (2xy ) L e (15
A 72x" yH A
B —72x" yt B
C 108x" y® C
D -108x" y® D
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16) In the figure below, what is the value of
4da-b?
(Note: Figure is not drawn to scale)

$olial a gas yall (< e Tolaic] 4g—b ded e (16

A 54 A
B 27 B
C 18 C
D 45 D

17) Fatima has three apples and four oranges in a
box. If she picks one fruit from the box without
looking, what is the probability that the fruit is an
orange?

(Bstia 8 YW 5 aof g cilalis 0 dadald 521 (17
Lo eadala Hlat o ¢ gasanl g dua (3 gaicall (he chda] 13
SRy Aaal) oda (68 U‘ Jlaial

A l A
7

B E B
7
4

C = C
7

D E D
4
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These questions are for practice purposes only b ol el e Ay oda

18) If m and n are parallel lines, as in the oLl JSill A 3 m Glesivel Gladll (IS 13 (18
following figure, what is the value of v? TV e Lad (g ) s
(Note: Figure is not drawn to scale) (o) e o Gy Y 8 s pall JSA 1idas3la)
< = » M
53°L/0
) 54° L
A 53 A
B 93 B
C 54 C
D 73 D
19) What are the roots of the equation %2 —11x+30 =0 Alaall | y3a L (19
x* —11x+30=0?
A 5, —6 A
B 5,6 B
C -5,6 C
D -5, -6 D
20) What are the quotient and remainder of £451+5 deusdll ALy miLL (20

451+57?

Quotient is 90 and remainder is 1 1 Sl 90 Ul
Quotient is 9 and remainder is 1 1 Sl 9 &l
Quotient is 91 and remainder is 0 0 Sl 91 Ul
Quotient is 92 and remainderis 0 0 L5 92 zUll

o0|m| >

o0 |w>

21) What is the measure of the interior angle that delull @ jie lgaiay Sl AN 4 ) 3 laie e (21
a clock hand makes when moving between any Somlliie Cadd ) (& yaill vie
two consecutive numbers?

A 45° A
B 15° B
C 30° C
D 60° D
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These questions are for practice purposes only

Los ol o el e 3Ly i

22) On the number line below, which number
would represent the point that is halfway between
A and B?

(Note: Figure is not drawn to scale)

Ol (s Adlsall Cauaiiall Adai Jiay (53l 22l Le (22
Sl dlaeY hd e B 5 A

- A B

- — ::I: : >
A -2 A
B -10 B
C -3 C
D -5 D

23) The first term of a geometric sequence is 7,
the second term is 14, and the last term is 112.
Calculate the number of terms, n, in the sequence.

Sl aall 5 7 98 daia Aagbiial J5Y) aall 13 (23
Saaliiall 3 g 23 Lad <112 5o ):\s“!\ anllg14 sa

A

o Nlo|>

B
C
D

o0|m>
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These questions are for practice purposes only

L8 i) o el s ALY oda

24) The bar graph below shows the average
daily production for the top oil producers in
2018. How many more barrels are produced by
Russia than by Canada?

Jsall o sl Y1 Jame il 3202 YL Jiadll (o0 (24
O Les) ) 230 oS 2018 alall & aiill Lal) <Y
9 Ly

Top oil producers in 2018

2018 Al 8 Jaaill abssf €Y1 5l

16 - 15.2 ) 152
0 14 132 2 sz
T2 124 14 - 124
S5 12 4
8¢ 12
52 10 3 107
E § 8 - — ~ 8
€< 6 4. 6 A 4
% . 42 %i’l) 2 B 52, 246
o 23 47
< 2 N
i
X 0 -
g_ % yg) > & G}' & & 0° > S D> 3 #
S D
§ TS ERA S 7\950*‘}\ 1
Country i)
A 7.8 million barrels/day pst/de  O5le 7.8 A
B 8.2 million barrels/day 252 [dae n 05l 8.2 B
C 16.2 million barrels/day st /dx 0 Osile 16.2 C
D 8.8 million barrels/day ps2 [dae O sle 8.8 D

S ALY gl -
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These questions are for practice purposes only bd ol (e el o Al oda

Al e caladdas
laldyly Gl
Glually AN pusiilly dplaiy) ol clga LS

P e O A Bpagandl sSal A58 A dgllaall clbsiall Tk @lilga (ol ) LAY 13 Giagy
dplaiy) 4l e
Aagll — Clyjiall — AU Ll D 8 LY aaa
EDA) el Chla dagls 18 Loy Al et ADUAIL alal) eal) b
G cipaill dilaal) Al il dlle bl al & AalS] Cipat (ajain Glidl palall oall b
bl o
Al daaall Bl ladl) clle . bl 453 Basly S et Lagall galall il 3
Zijma pre Jla 8 Ssdall cpetill e Yoy (9) plein) Adle 3l ol damia Als) Jigu IS
Aaasaal) LlaY)

gﬁbm\i\ ssaill e

frs) By (e DA e Ledlliy Lo yn3 5208 GLES), Qs e 538 Gl SLE2Y) pad
Baclall Callaall patell HLoAl dall 95Sh canly paie laele sac il lgases auadd jualic

Laid saaly Aanen la) JUESY) (e siall 138 8 e OSI

Glwall o

e Bub oo (ol okl aeall) Ll dubuall Glleall da o 53 Quid JLEAY) aeda
50 9 (AT Ge al)l oty daldl ()5S Abual) clileal) 3g0n L Alsgang bl L aglea dlalee
o el il 5sS Gumy Aslaall cilehd ol Baalg

LRV e sall 13a 8 Jlgall sasls daaia Dla) e ST @l 05 o Sl e

da e el clle g coanad) gl DA A paea da alad) adgiall o al cCiigy dgana adll LadY!
e g 483 (Sae 222 S
LAY 13g) o) e selus A A dsadl) ALY e Ao dag AW Clabal)
ccalal) 138 Llgd 8 5agasal) damaall GLlaYL Shlls) 23lke 25 260Y) 238 ce DlaY) Kl
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These questions are for practice purposes only b8 i) o el s Al oda

APNE

A Salaty) Aall) &l jlga SLEAY day i die
loaall g i RIN) uSEil

[Please Note: These questions are for practice purposes only]
(388 i) (a ad AL oda o)) ddaadla A 1)
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These questions are for practice purposes only b8 i) o el s Al oda

:Z\:U'#Y\ dall) ¢)ylga

A i o B AL 1Y

& (?) plefind) Aadle jLial o AUl dlaall g )il edad damall DlaY) jlial elle ]

Where did you get the money ?

away

for

out

from

& (?) pledin¥) Aadle a4l dleadl 8 &) @l o dal damall LY sl dlle 2
AlaY) 4 e e Js
If snowing, we will go skiing.

it will be

itis

it was

will

?
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These questions are for practice purposes only Lg gl (o yad b Al sia

& (?) pledin¥l Aadle a5 Al dleadl & &) dl o el dapaall LlaY) sl elle 3
AdaY) A e are s

is a popular hobby for many people.

Reading

To read
Reads

Read
?

G (?) aledin¥) Adle JLia) f Al dleall 3§ ) d o dad dnaaall syl Ll elle 4
ALY e pae Js

If the weather nice tomorrow, we will go for a picnic.

is

are
be

been

Saudi Aramco: Public )
© 2025 sl )5-‘“:)‘ )
%AM‘&T}%)’J‘ q)!\fxs)aw@)m,@hsua\gsdwl O}J@\S@lﬁé\qﬁdu\a&woﬁé\@djﬁy; ‘Z\.ijéjsﬂ\@m;
(sl Sl )
28



These questions are for practice purposes only b8 i) o el s Al oda

i jhall A B AL ;L

4 yraare Jla 3 (9) aledinl) Ladle a5 ) Gy jeill dilaall 4alS)) jlial elle 1
Aapaall 4y

living in nature

employee

corporate

wild

mild
?

4 yrapie a3 (9) aledinl) Aadle jbaal o ) Gy jeill dallaall 48N jlial elle 2
Axpnall A

a very small baby

chairman

native

newborn

giant

?
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These questions are for practice purposes only b8 i) o el s Al oda

4 yraare a8 (9) aledin¥) Ladle a5 ) Gy jeill dilaall 4alS)) sl elle 3
Axsall sy

making light or joke of a serious topic

facetious

curious

vain

imaginative

?

4 yra pre Jla 3 (9) aledin¥) dadle laal ol U Cay paill dalaall A L) elde 4
Asasall Ay

certainty or belief in something

theory

mistake

conviction

honesty

?

Saudi Aramco: Public )
© 2025 sl )5-‘“:)‘ )
%AM‘&T}%)’J‘ q)!\fxs)aw@)m,@hsua\gsdwl O}J@\S@lﬁé\qﬁdu\a&woﬁé\@djﬁy; ‘Z\.ijéjsﬂ\@m;
(sl Sl )
30



These questions are for practice purposes only b8 i) o el s Al oda

Tingll) A ja B ALk sl

LlaY) 48 e a2e Ja A (9) alefindl Aadle sl ol dalS damall Lngdll sl elle ]
Al
company
compeny
?
LlaY 4 e ae Jia G (9) aledin¥) dadle jliia) ol Al damall Lngil) jlial elle 2
Aaaall
manager
mannager
?
LlaY 4 e ade Jia L (9) aledin) Aadle Ll sl dalll damall gl jlial elle 3
Asgaall
definately
definitely
?

LlaY 4 e ae Jia 8 (9) aleiin) dadle L) ol Al damall Dngill jlial elle 4
Aaaall

g

seperate

separate

?
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These questions are for practice purposes only b8 i) o el s Al oda

AR S

JIEY) 48 ae GBuliiall ye JS3N sl elle ]

IN2A TV AL

JSEY) 48 ae Guliiall ye JS3N) sl elle 2

Y Ay pe il e JSAN sl elle 3

A LA DNANEOEG

JSEY) 48 o Guliia) e JSA sl elle 4

JSEYT 4 pe il e JSAI jlasl elle 5

HA /N W/ /A
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These questions are for practice purposes only Ja 88 ) (o yad s ALY o2

bl

Ay Al b cle) @l edaclle ]

BE
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These questions are for practice purposes only Ja 88 ) (o yad s ALY o2

Ay Al 8 cle) @l edaclle 3

Ay Al 8 cle) @l oda e 4
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These questions are for practice purposes only Ja 88 ) (o yad s ALY o2

Ay ALl 8 cle) dll edadlle 5
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These questions are for practice purposes only b8 i) o el s Al oda

Al Aall) A (o ghal) aaad o Ll e B daanal) clilay)

Ciluals g
. 4 3y dadl) Ll .
S : cilualy ) Lasl ) gl
Question # S s ~ab ol b JIudd) a2

1 C C 1
2 A D 2
3 C B 3
4 B B 4
5 D D 5
6 B A 6
7 A C 7
8 C A 8
9 D C 9
10 B A 10
11 D D 11
12 A B 12
13 D C 13
14 B D 14
15 A A 15
16 C B 16
17 D C 17
18 A D 18
19 D B 19
20 C A 20
21 B C 21
22 C D 22
23 B B 23
24 A A 24
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These questions are for practice purposes only L8yl e yad o ALY o2

(i) SRR st g Ay sudady) Aall) il g JLA) Ae A daaal) iy

lwall g
450y Aadh) il lga Jlsaad) o
from @l 1
it is PED WA )
Reading a3
IS @kl 4
wild Gl il 1
newborn <l jaall 2
facetious <l el 3
conviction <la il 4
company agil
manager Lagill 2
definitely agll 3
separate Lagdll 4
() ALY sl BICAIPLR

A>-V <wAp>-V«V) 1

| [ [0 [ o 2

A= PN HAIEIO@ 3
1 QA0 QAVigAS SkS ¢ 4
HA /[N 'D@ 5
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These questions are for practice purposes only

u&_\i)ﬂ\ua‘)ﬂsﬁum\ﬂcﬁ_ﬁ

IV gaal) a8

Answer: 9-2 or 8-1

Answer: 9+7-1, 9+8-2, 7+9-1, 8+9-2

Saudi Aramco: Public )

%JM\@):J\QEJ\&SW“@)»AJEUSUJ\&Dd)mﬂ\ujéu\sw)bdbﬁéu\u&w;);g\cbuu)ﬁ‘y;¢&)mé}sﬂ\&\u

(sl a0 )
38



These questions are for practice purposes only bs cyall ayal e Ay sda

]

Answer: 6+(8x5), 6+(5x8), 4+(6x7), 4+(7x6), 1+(5x9), 1+(9x5)
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These questions are for practice purposes only

u&_\i)ﬂ\ua‘)ﬂu.ﬁ;\im\ﬂcﬁ_ﬁ

Answer: (9x7)-5-3, (9x7)-6-2, (7x9)-5-3, (7x9)-6-2, (9x7)-3-5, (9x7)-2-6, (7x9)-3-5, (7x9)-2-6
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